Relations du triangle : A
tana = BC/AC
Or:
AC = z robot, BC = y robot yp----------
Donc :
tana = 2 (1)
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Relations du triangle : A
tan 8 = BC/CD ¢

=y/CD

= y/(AD — AC) g

= y/(AD - z)
Or:
AD = largeur de la table ¢
Donc :

tan g = 2) ¢ e P
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Récapitulons :
tana = ¥
x - Yp----------
tanﬁ = m
C’est gagne ! !l
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Les équations de départ

tana =y/x (1)
tan 8 = y/(¢ - x) @)

Quelques transformations :

(1) e y=uztana (3)
2ey={(—=x).tanpg (4)

(8)(4) = z.tana = (¢ — z).tan g (5)
z.tana=/4.tanpg — z.tan g (6)

(7)

~

z.(tana +tanp) = (.tan g
tan g
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